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f 4 <Model Name> ( AC 95T A—4 )
<AC CLAMP METER>
24 <Model Number> ( 3280-20F )
5 H =S <Serial No.> ( No. 160101235 )
RELE A B<Test Date> ( 2016-01-28 )
<YYYY-MM-DD>
B E & <Test Conditions> ( 229 °c, 52 %rh )
R |7rvyiay LU AR A fE BRIEME *1
<ltem> [ <Function>| <Range> <lnput> <Tolerance> <Calibration Value>
HEE
<Accuracy> At 42 A A7 A 55Hz 3640 A ~ 3760 A ( 3662 A )
<AC current> 420 A 370 A 55Hz 3640 A ~ 3760 A  ( 366.3 A )
1000 A 1000 A 55Hz 980 A ~ 1020 A ( 888 A )
ILELTIL %2 420 A 370 A B5Hz 3621 A ~ 3779 A ( 3708 A )
<{Flexible> 4200 A 3700 A 55Hz 3621 A ~ 3779 A ( 3700 A )
TREE 42V 37V B5Hz 3627V ~ 37713V | 3690 V )
<AC voltage> 42 vV 37V 55Hz 3627 V @~ 3773V ( 3694 V )
420 V 370 V 55Hz 3627 V ~ 3773V ( 3695 V )
600 V 600 V 55Hz 583 V @~ 617 V. ( 508 V)
EREE 420 mV 370 mV DC 3603 mV ~ 3797 mV (  370.2 mV )
<DC voitage> 42V 37V DC 3660 V ~ 3740V ( 3602 V )
42 Vv 37V DC 3680V ~ 3740V ( 36.96 V )
420 V 370 V DC 3660V ~ 3740V ( 3696 V )
600 V 600 V DC 501 V0~ 609 V. ( 600 V )
EH 420 Q 370 O 3622 0 ~ 37780 ( 3701 & )
<Resistance> 4.2 kQ 3.7 kQ 3622 kQ ~ 3778 kQ ( 3,705 kQ )
42 kQ 37 kQ 3622 kO ~ 3778 kQ ( 37.05 kQ )
420 kO 370 kQ 3622 kO ~ 3778 kQ ( 3706 kQ )
4.2 MQ 3.7 MQ 3511 MQ ~ 3.888 MQ ( 3.708 MQ )
42 MQ 37 MQ 33.26 MQ 40.74 MQ ( 37.46 MQ )
HE 420 O 370 Q 3220 ~ 3778 0 ( 3700 Q )
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<For inspection of Flexible Function, the voltage equivalent is used.>
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